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intersection of functions. Sketch the graph of the functions to see how many you need to find.

Instructions: Use Newton’s Method x,,,., = Ky =

to find the zeros of the specified function, or the

You can set your calculator up to do this quickly by doing the following steps: 1) Put the original function
into Y1. Put the derivative of the function into Y2. 2) Return to the main screen. Choose an Xy value to
start with. Enter it and press enter. 3) On the main screen write ANS —Y1(ANS)/Y2(ANS)). You can get
the Y1 and Y2 commands from the VARS key, then select Y-VARS, FUNCTION and the appropriate
function. The ANS command is 2"° and the Negative (-) key. 4) When you press enter, the value of X
will appear. Since the command uses the last answer, you only need to press ENTER again to get x5 and
so forth. Record each answer until you have 4 decimals places that remain fixed. You can repeat for a
different starting value to find additional Zeros.

1. Find all zeros of
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b. f(x) = tan(x) — 2x (if there is more than one, find at least 2)
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2. Find the intersection of f(x) = lnj(x) and g(x) = x* — 2. Do this by creating a function f(x) —
g(x) = h(x) and then find the zero of h(x).
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